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Linear programming
Objective functions and

constraints f are all linear

Dietary Problem

Vitamin A Vitamin C Price

Carrot g 21mg 11mg 24
Cabbage g 11mg 31mg 3

Min Daily
consumption 6mg 81mg

I
g of carrot contains 2mg A 1mg C

How much carrot cabbageto
consume so as to min cost
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Dual Problem

Pharmaceutical company
develop VitaminA C pills to replace

carrot
determine the pricesof cabbage
A Cpills

Let p price of A

q price of C

objectivefunctionatz Gp 88
constraint Ip of 2 carrotprice

P 38 3 cabbageprice

p q o

L

Thepriceof carrot from the company'sptofview



19

ps
bp fq z

Optpt intersection between

2p q 2

p 38 3

5p 3
1



Optvalue Z 6p 8q
63 8 E

the same as the originproblem

primal
opt primal apt dual

value value



Change of Parameters

Vitamin A Vitamin C Price

Carrot g 21mg 11mg 24
Cabbage g 11mg 31mg 3

Min Daily 6mg 81mg
consumption

what if the priceof cabbage has changed
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TransportationProblem
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